~

<¢ OF

o

a,,‘.‘
-,
"

~

BRICK VENEER ABOVE.

\A\Y

METAL STUD BEYOND

1.2x2x1/4" x 36" GALV.

I
| v |
| G, T
| 3" MIN CONCRETE TOPPING ON / ;
| ] | | (2) 3/4"0 A36 THREADED ANCHOR
| RIGID ON 4 1/2" CONC STRUCT BRICK VENEER | | ROD THRU EDGE ANGLE AND PLATE %ﬁfgfgg&g%%gg o —
| SLAB ON 2" VLI 2/ | | BELOW. 13/16"@ CORE DRILL AND X
|
|

GRI
1'95/8'%
|

[

|

|

WATERPROOFING PER ARCH. |
ELASTORMERIC PARKING \ |
Al

|

|

il [
| |
| |
1 |
| |
| |
| |
MEMBRANE ON 7 1/2" CONC ON A S 7 NN | e METAL STUDS W/ (2) #14 )t | |
3 VLI | | WT9x25 W/ COPED FLANGE. — -/ 41/2 GROUT SOLID IF LOOSE. SELE-TAPPING GALV. | |
| ! 3" MIN CONCRETE TOPPING ON @ | " SCREWS @ 8" O.C. ALIGN | ‘ |
1ST FLR TOPPING | \ " | 1/4" NYLON SHIM
¢ SLAB ELEV 100-3" WATERPROOFING PER ARCH. ! ! RIGID ON 4 1/2" CONC STRUCT L5x5x3/8" CONT. GALV. ——_ ! \ W/ STUDS BEYOND. | | © 2015 RYAN SENATORE
| | SLAB ON 2" VLI BRICK SHELF @ | 3 | | ARCHITECTURE
1ISTGARAGE &~ | ' p "y PROVIDE ADDVL on RIGID INSUL ELASTORMERIC PARKING | | f } 1/4—" x 6" WIDE x 4 1/2" TALL TOE } }
STRUCT SLAB BELOW TOPPING POUR AT MEMBRANE ON 7 1/2" CONC ON | | LOW ROOF BELOW \ ______ ! BEARING PLATE CAST INTO SLAB TO | |
ELEV SEE PLAN. AREAS REQUIRING MORE DEPTH. 3" VLI ST FLR TOPPING PA Kox] ) SUPPORT TOE EDGE OF WT. i i
1
¢ 1ST STRUCT SLAB ¢ SLAB ELEV 100'-3" i i |
ELEVSEE PLAN. ) PROVIDE ADD'L 2" RIGID INSUL | | |
BELOW TOPPING POUR AT » ] | |
5" STEP IN STRUCTURAL SLAB. AREAS REQUIRING MORE DEPTH. ' GALV. W24x55 AESS BEAM - | |
PROVIDE COLD JOINT AS REQ'D. (2) #4 HOOK DOWELS @ AND COL SUPPORT “TYP i i
1ST GARAGE ANCHORS -TYP. : — 1641
" N\ T~ non
HSS2x3x3/8" SHIM x CONT. #4 BENT BAR @ 24" O.C. @ STEP ggfégi}; ;LAB ELEV v 1/4"x6"SQ. FLAT PLATE | |
WELDED TO TOP OF WF BEAM. IN TOP OF SLAB -TYP. . ’ ::::::::::::::::_A—_______:::::::::::: STINCIIIIOT L11/2"xL11/2"x3/16" BRACE - ; 1"
) ) 2" STEP IN STRUCTURAL SLAB. ; @ WT ATTACHMENT ABOVE __/ } }
6" MIN —J8 - PROVIDE COLD JOINT AS REQ'D. ! W o | |
N 18" HSS3x2x3/8" FLAT DECK EDGE 3 %c//llziSIEBDST% 1\3551? " ’ i fior
130° T SUPPORT W/ 1/4" THICK » 4" WIDE 1 ' 3/8" THICK x 3 5/16" WIDE x —| | |
WF BEAM PER PLAN PLATE WELDED TO BOT OF HSS o 36" LONG HALF CAP PLATE ]
o : | Vs EDGE BEAM, SEE PLAN EXTENDED 6" BEYOND HE U 2ND FLR
. ) — A , W24 FLANGES AND FH]
| BOLTED TO BEAM ABOVE -
SECTION @ 11/2"=1"-0 Pooiisisosoioizoiziioizoizozozmizoizoizd gggigffggéﬁiggﬁgg W/ (2) 3/4"0 A325 GALV. aai ¢ T.O. STEEL
=1"- n_1 BOLTS BOTH SIDES HH SEE PLAN
N
"n_q1 ‘ ‘
SECTION (555  11/2"=1-0 | |
N
| | —
| |
WATERPROOFING PER ARCH. | | ]
y 1/2" RIGID AND JOINT FILLER READ PER ARCH | | > |
N AGEE. . WATERPROOFING PER ARCH, | |
| ™1 /v T | |
ELASTORMERIC PARKING 1 | ! | | J—
MEMBRANE ON 7 1/2" 1 | 600520043 @ 16" O.C. EXTERIOR ELASTORMERIC PARKING \‘; i i 6005200-43 @ 16" O.C. EXTERIOR ,‘"./ ; GARAGE INTERIOR i i  \UE BEAM PER PLAN
CONC ON 3" VLI il ; METAL STUDS -TYP. UNO. MEMBRANE ON 7 1/2" CONC ON | | / METAL STUDS -TYP. UNO. T 1 P TR ¢ 1ST FLR TOPPING | | m
il | 3" VLI ! | SLAB ELEV 100'-3"
_____________________ ‘ ‘ 41/2" CONC ON 2" VLI ! | | 41/2" CONC ON 2" VLI PER PLAN . LIGHT GAUGE | | —
! ! ‘ ‘ o SHAFTLINER @ | | |
| | PERPLAN | e | | SEE L | | ¥ LU
| | —INTER‘IOR PLAN | ] PER ARCH ~ ‘, | | m
1ST FLR STRUCT ol ‘ 1ST GARAGE | | % N =2
SLAB ELEV 100-0" 1ST FLR STRUCT STRUCT SLAB ELEV } | - =
| SLAB ELEV 100-0" SEE PLAN. | | (D <
_ LIGHT GAUGE STAIR SHAFT W | Z| | =
[ P gy
| ) | " : | | ‘ S 0O
, 2" FLEXIBLE THERMAL SLAB | , HSS2x3x3/8" SHIM x CONT. = | | \a I | I =
' JOINT W/ INSUL PER ARCH. I ) WELDED TO TOP OF WF BEAM. (1) 1/8"x2" STAINLESS BENT | | \ ; O\ ; |— <
! | ‘ " " PLATE CLIPS FASTENED W/ | | | | | D: Y
2" FLEXIBLETHERMAL SLAB 6 \ | \ | \
10x30 BEAM RT SLAB O3
B oS TONTS o et B 1O TARCON TN . : - 4
PREDRILLED HOLES IN ‘ | b L \ —
o I W10x30 BEAM TO SUPPORT SLAB GRANITE PANEL @ 24" O.C. | | | W | | O [
\ — EDGE AT THERMAL BARRIER WEBEAM PER PLAN @ ENDS OR TOP OF o i S | | | © | | Z < O
LINE OF JOINT, SEE PLAN GRANITE PANEL. FASTEN \ , | | | ‘ | \
' ' TO CLIPS TO METAL STUD ot i S | P58 | | | al
e ! WALL BEYOND AR O e | \ | | |
| | | | |
"n—_11 / | | | I I
SECTION @ 11/2"=1"-0 SECTION S2.02 1 1/2 =1-0 GRANITE VENEER PANEL [mEa: } | © | | U
S2.02, / - - ~— R [ SE Il ——— 1/2" THICK GALV. BACK PLATE AND | / | |
SECTION 11 /2" =1'-0 ~— S I ::‘/T RETURN FLANGES TO 1/2" BASEPLATE | e | | l\
S2.02 _ [ 1?% ‘ ‘ BELOW. PROVIDE (4) 5/8"0 x 8" GALV. | | |
~— TR 4 W.A. ON 3/4" GROUT. | © || ! | O
j | | | | | O
| | |
. | | |
E 1ST STRUCT SLAB | | |
ELEV SEE PLAN. | © | |
| | |
| N - )| |
L11/2"xL11/2"x3/16" BRACE @ ' ' CONC WALL PER SCHD. —| ‘é Tg%gsgffﬁ E l i i
X X . -
BRICK SHELF ATTACHMENT Ay #5 CONT. -TYE p | | |
] RIGID INSUL PER ARCH | \o 1
Y\
FLOOR ELEV $ L6x4x3/8" x CONT DECK
SEE PLAN _ x4x X
CRID EDGE SUPPORT W/ (1) DETAIL
. L11/2"x1L11/2"x3/16" BRACE / 5/8"0x 6" GALV. W.A. @ 36"
gﬁ% IS,E%IL $ — Nisas /4" FITTED STIFFENER @ VISOR ATTACHMENT - ‘ I O.C.-TYP.
1/2" PLATE TAB SHOP CUT ‘ L
i - 11/\1 "L* SHIAPE FLOOR ELEV H 6005200-43 @ 16" O.C. EXTERIOR SECTION 11/2"=1"-0
METAL STUDS -TYP. UNO. =1-
T % SEE PLAN S2.02
1 !
L | " N—
Se —— (3) 3/4"© A325 BOLTS LA WATERPROOFING PER ARCH. 2" GAP @ DECKING
- SEE PLAN 16 GAUGE FLAT PLATE POUR ./
] STOP i \ yid i W10 CONT. COL X BRACE
[ o \ I
_ /— METAL STUD BEYOND. SPRAY FOAM ELASTORMERIC PARKING ili | ESERIN%TIONS NOT SHOWN FOR
METAL STUD BEYOND. SPRAY FOAM PENETRATION -TYP. CONC ON 3" VLI oA ‘ m 41/2" CONC ON 2" VLI PER PLAN
Nl |
/ INSULATE AROUND COLD STL & PROVIDE 1/2" NYLON FILLER 1 | m
_ | |
7 PENETRATION -TYP. A BETWEEN PLATE JOINT | | ¥ —  LIGHTGAUGE
" _— 3/8"x 5" GALV "L" PLATE FOR VISOR "
C51/2 _ PROVIDE 1/2" NYLON FILLER B.O. STEEL ATTj‘iCHMENT i il—éJéIIJ{TLINER PER i /;sIDFélc*)TTED COL STIFFENER TOP
% BETWEEN PLATE JOINT ESESSEERPLA m
‘ | GALV.3/8"x7"x4" TAB@ 48" O.C. ’ y- A, — STAIR SHAFT /'./ — RYAN SENATORE
7 MAX W/ VERTICAL 11/16"® LSL FOR o e . ARCHITECTURE
. 4 ?+/A ] / 5/8"® GALV. ERECTION BOLTS. ] ! V/ | | l ] / \ | _—— W12x30 CANT. OUTRIGGER W/ 565 CONGRESS STREET
rol ﬂ ] __— GALV. L5x5x3/8 BRICK RELIEVING L i ? \ === R PLAN—7%~ N g[éIiL MOMENT CONNECTION TO PORTLAND: MAINE 04101
ANGLE < | ﬁ | 2" FLEXIBLE THERMAL SLAB . -650-
& | \} | 3/16" PLATE STIFFENER | | e —— 2 Ly © © | 7" S 1% JOINT W/ INSUL PER ARCH. W10 CONT. COL X BRACE senatorearchitecture.com
A oot | | | L | 1 :
| ‘\ @ | | O | (2) 3/4"@ GALV A490 TC BOLTS o © ' 1 — W10x30 BEAM TO SUPPORT SLAB CONNECTIONS NOT SHOWN FOR CONSULTANTS:
| o& . ‘L ELEV, TAB TO WE ‘ ‘ v EDGE AT THERMAL BARRIER CLARITY STRUCTURAL:
Lo N+ I — —h SEE PLAN : : \ W8x28 DRAG STRUT /g HUNG FROM CANT. OUTRIGGER Structural Integrity
T CHANNEL VISOR PER ARCH / | FROM COL. 77 Oak Street
J ] 1/2" x 7" WIDE x 9" , . ] 3/8" Poriand, ME 04101
n_q1 774-
- =1 TALL PLATE i - WF BEAM TO
—] SECTION 500 11/2"=1 () 3/4"G GRADE F593 GR. D TYPE 304 FIREPROOFING OF STEEL v, 3/8
N\ = FRAMING NOT SHOWN FOR yAid COL STIFF
STAINLESS STEEL BOLTS THRU . .
@ ) PLATES & NYLON PAD. COLD GALYV. 1/2" x 6" WIDE x 9" TALL END CLARITY.
"n_—_11 "
SECTION (og  11/2"=10 3/16r AR TOTAB YD PAINT $5. BOLTS -TYP, CRADE P93 GR B TYPR 10t
~ (2) 3/4"® GRADE F593 GR. D STAINLESS STEEL BOLTS THRU SHEAR TAB
TYPE 304 STAINLESS STEEL PLATES & NYLON PAD. COLD
~ BOLTS THRU PLATES & GALV. PAINT S.S. BOLTS -TYP. SECTION 1 1 2n — 1 v_O
/GRS NYLON PAD. COLD GALV. %2\0/7 /
7 PAINT S.S. BOLTS -TYP. 1" NYLON HIGH STRENGTH
THERMAL SHIM. _ \
- /
'GRID " " " GRID \q
‘ -\ ) L11/2"xL11/2"x3/16" BRACE I ‘ W77
| | ; - @ 4'-0" | | BRICK VENEER W/ S.S. BRICK TIES @
| | | 1 /4" E'TTED STIFFENER & Lo | | 2 16"0.C. E.W. SEE ARCH FOR FLASHING, EVISIONS.
W T | ‘ ‘ N\ 7 TAB @ 48" O.C. MAX W/ e | | —e 2" WEEPS, ETC. :
o T 6005200-43 @ 16" O.C. EXTERIOR | | {isaass NYLONINSUL PAD s | X EXTERIOR METAL STUD WALL
3/16" /112" 1-0 i 1 METAL STUDS -TYP. UNO. e 1 g% | | Z L11/2"xL11/2" x3/16" BRACE 1-0 | fe—r “TYP. UNO.
| | o | | 2" | | WALL SYSTEM, SEE ARCH.
41/2" CONC W/ WWE ON 2" | | #4 HOOK DOWELS @ 24" O.C. -1 ‘ ‘ 41/2" CONC W/ WWF ON 2" | | | — .
FLOOR ELEV VLI DECKING, SEE PLAN —_— 1-0" | | | FLOOR ELEV VLIDECKING, SEE PLAN | %/F gﬁ;&%ﬁ%ﬁf %QSST% ?HTIFUPE "
SEE PLAN $ : #5 CONT. -TYP > | | ’ SEE PLAN d} PLATES & NYLON PAD. COLD GALYV. DATE: 2 NOVEMBER 2015
y =HH 41/2" CONC W/ WWFE ON 2" | | y i PAINT S.S. BOLTS -TYP.
4 " 4 "
T-O. STEEL A / == FLOOR ELEV VLI DECKING, SEE PLAN | T.O. STEEL Ty, %/— NYLON PAD PROJECT No. 1503
SEEPLAN W fF--------mmmmmem b ] ] 10GA POUR STOP -TYP UNO W/ 1/2"  SEE PLAN SEE PLAN B L EE S An b 7 GALV. 1/2" "L" SHAPED TAB @ 48 _
| | SSRS MIN VERTICAL LEG RETURN -TYP 0O.C. MAX W/ VERTICAL 11/16"® L.SL DRAWN BY: MKL
| | O, STEEL 4" | FOR 5/8"® GALV. ERECTION BOLTS.
| : DEFLECTION TRACK -TYP @ TOP SEL PLAN d} pppepestetetuiebeietetetetetebe / ___— SPRAY INSULATION ON "COLD" STEEL CHECKED BY: ACJ
| | TRACK -TYP. : g o TABS -TYP.
________________________________________ | | | ‘ : : SCALE: AS NOTED
& 3 """"""""" | | | .‘ & U 14 £ :
‘ | , —TAB TO TAB -TYP :
BEAM BEYOND, | | | BEAM BEYOND, % 3/16 SHEET TITLE
SEE PLAN ! o] ! SEE PLAN 3 4"
| | & | //%/— GALV. 1/2" TAB @ 48" O.C. MAX SECTIONS
\ \ - \ N A
| | | o«
BEAM BEYOND T %
‘ ‘ b ‘ " |
/ | | | SEE PLAN ‘ S.S. BRICK TIES @ 16" O.C. | — O _ <T AB TO ANGLE
| | | | MAX E.W. ! @ ? 1/4
| ‘ \ |
4 | | KARRIER WALL SYSTEM, SEE ARCH. i / 1 -
EDGE BEAM, SEE PLAN | EDGE BEAM, SEE PLAN L
/ | | | | GALV. LINTEL AT WINDOW ,{
FIREPROOFING BY OTHERS \ \ \ ! : / OPENINGS -TYP UNO. SEE FIREPROOFING BY OTHERS — GALV. CONT. L.6x3 1/2x1/2 BRICK
CEILING & FINISHES PER ARCH | GEN NOTES, PLAN AND CEILING & FINISHES PER ARCH RELIEVING ANGLE. 1" NOTCH IN
‘ Z ARCH FOR MORE INFO. HORIZ LEG AT RECESSED BRICK 77 Oak Street
|
| Portland, ME, 04101

_ N LOCATIONS, PER ARCH. Str ' ct al
SECTION @qw 11/2"=1"-0 SECTION 11/2"=1"-0 SECTION {55)  11/2"=1-0 ——L—~ BACKERROD & SEALANT U u{ﬂt e rity Fasems s ]
* TYPICAL EDGE DETAIL UNO * * TYPICAL VENEER BYPASS * TYPICAL BRICK RELIEVING —g“m..gm.m.m_ BUILD WITH CONFIDENCE

DETAIL DETAIL UNO * ANGLE @ WINDOW HEAD UNO * asmsg ool o




